Back

$$(-8) \longrightarrow \frac{g_{D} - g}{g_{D}} \times |m| \approx [40]$$

curve:

## MA161 Exam 1

Show all work to receive credit. Access to internet / graphing calculator / etc during the exam will result in a score of 0.

$$1. \text{ for product } \Rightarrow \text{ think t B.P}$$

$$1. \text{ for product } \Rightarrow \text{ think t B.P}$$

$$\int x^{3} \cos(2x) dx = \frac{x^{3}}{2} \sin(2x) + \frac{3x^{3}}{4} \cos(2x) - \frac{6x}{8} \sin(2x) - \frac{6}{16} \cos(2x) + c$$

$$\frac{5400}{16} + \frac{3x^{3}}{2x^{3}} + \frac{3x^{3}}{2x^{3}} + \frac{3x^{3}}{2x^{3}} \cos(2x)$$

$$\frac{1}{3} \sin(2x)$$

$$\frac{1}{3} \sin($$

4. 
$$\sum_{n=1}^{\infty} \sum_{i=1}^{n} \int \tan^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2} \theta \sin^{2} \theta d\theta = \int \tan^{2} \theta \sin^{2} \theta \sin^{2}$$

6. (you need to do at least three of the following; additional ones may be done for extra credit.) Evaluate at least three of the following integrals:

(a)  
$$\int 2x \tan^{-1} x \, dx =$$

(c)  

$$\int \frac{\sqrt{x^2 - 9}}{x^4} dx =$$
(d)  $\pm 3^{2}$  (c) (ect)  
 $\int e^{3x} \sin 4x \, dx =$ 
(e)  
 $\int e^{3x} \sin 4x \, dx =$ 
(b)

(e)  
$$\int \frac{x^2}{\sqrt{16 - x^2}} \, dx =$$

(f)  
$$\int \frac{x^2 + 4x + 6}{x(x^2 + 2x + 1)} \, dx =$$

$$\int 2x \tan^{2} x \, dx = x^{2} \tan^{2} x - \int \frac{x^{2}}{1+x^{2}} \, dx \qquad \text{set}: 1+x^{2} =) \qquad x = \tan^{2} + \tan^{2} x - \int \frac{1}{1+x^{2}} \, dx = 2x \qquad (1+x^{2} = xe^{2}b) \, dx = xe^{2}b \, dx = xe^{2}b \, da = \int x^{2} + \tan^{2} x - \int \frac{1}{1+x^{2}} \, dx = xe^{2}b \, da = \int x^{2} + \tan^{2} x - \int \frac{1}{3ee^{2}b} \, dx = xe^{2}b \, da = \int xe^{2}b \, da = \int$$

$$\int \frac{x^{2}-q}{x^{4}} dx = \int \frac{3\tan \theta}{81\sec^{4}\theta} 3\sec(\theta \tan \theta) d\theta = \frac{1}{q} \int \frac{1}{4\frac{\pi^{2}}{6\pi^{2}}} d\theta$$

$$\frac{84\sqrt{x^{2}-q}}{x^{4}}, \frac{x^{2}>q}{x^{2}} = \frac{3}{3}\sec^{2}\theta} = \frac{1}{q} \int \frac{1}{4\pi^{2}\theta} \cdot \frac{3}{6\theta^{2}} d\theta$$

$$= \frac{1}{q} \int \frac{1}{4\pi^{2}\theta} \cdot \frac{3}{6\theta^{2}\theta} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}\theta} \cdot \frac{3}{6\theta^{2}\theta} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}\theta} \cdot \frac{3}{6\theta^{2}\theta^{2}} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}\theta^{2}} \cdot \frac{1}{6\theta^{2}\theta^{2}} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}\theta^{2}} \cdot \frac{1}{6\theta^{2}} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}} \cdot \frac{1}{6\theta^{2}} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}} \cdot \frac{1}{6\theta^{2}} d\theta$$

$$= \frac{1}{q} \int \frac{1}{6\theta^{2}} \cdot \frac{1}{6\theta^{2}} d\theta$$

$$= \frac{1}{2} \int \frac{1}{6\theta^{2}} \cdot \frac{1}{6\theta^{2}} \cdot \frac{1}{6\theta^{2}} d\theta$$

$$= \frac{1}{2} \int \frac{1}{6\theta^{2}} \cdot \frac{1}{6\theta^{2}} d\theta$$

$$= \frac{1}{9} \frac{x^{3}}{3} + c = \frac{(simb)^{3}}{27} + c = \frac{1}{21} \left( \frac{\sqrt{x^{2}-9}}{x} \right)^{3}$$
$$= \frac{(x^{2}-9)^{2}}{(x^{2}-9)^{2}} + c$$

